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1 |AckopyTuH 300mr Lwiaxman p 10 20 50 30 30 50 50 | 100 300 | 50 20 50 750 500 375,000
2 |BbambBaiH xaHa 30 mn aycan bn 1 4 2 10 5 4 5 10 10 1 5 5 61 4,000 244,000
3 |BeHsartuH neHuumnnuH 2.40YH TaplHyHTar dn 1 20 | 10 50 20 50 | 21 171 1,800 307,800
4 |BpomMrexcuH Bmr iaxman TP 10 20 30 5] 10 20 3 50 | 60 50 | 200 10 100 10 30 599 1,000 599,000
5 |Bepmokc 500mr wax dn 6 10 3 10 23 2,500 57,500
6 |Buramun B komnnexc 2mn Tj;’x;‘:“ Kp 10 20 | 100 | 20 10|10 |20 |20 30| 50 50 | 50| 30| 20|20| 30| 20|20 [100] 15 635 | 1,800 1,143,000
7 |Butamun C 50mr ypan nau 50 100 150 50 | 100 400 350 140,000
8 |[ubascn 300mr waxman P 10 50 15 20 10 10 | 30 20 5 160 400 64,000
9 | mokenywmknin 100Mr ““""”:r’:""anc P 10 20 10 10 | 20 20 | s0 | 10 w|s|10|1w0]1w0] 2 232 | 3600 835,200
10 | onooroHs! xaxa 30 mn Aycan thn 1 3 10 8 10 1 5 10 5 49 1,800 88,200
11 |WBynpoder 200mr waxman TP 10 50 | 20 | 20 ] 10 ]| 20 50 | 40 40 | 100 | 30 10 20 | 50 20 480 800 384,000
12 | Min3siokyyncaH Hyypc 250mr Wwiaxman ™ 10 30 | 100 | 10 10 50 | 20 | 50 | 50 | 500 50 [ 100 20 | 100 | 50 | S0 30 | 100 1320 500 660,000
13 |MupomeraumH 25mr waxman TP 20 10 | S0 5 50 30 10 5 10 50 220 1,800 396,000
14 |KanTonpun 25mr wax Kp 10 10 { 30 | 10 3 1 50 10 10 5 10 50 | 10 199 1,000 199,000
15 |Korpumekcazon 480Mr wax s 10 20 | 20 4 10 10 | 50 | 20 10 5 149 2.500 372,500
16 |Maruv B6 470Mr+5mr wax P 10 10 30 30 20 20 20 10 50 30 50 10 20 50 | 40 10 20 30 | 100 ] 20 570 3,500 1.995.000
17 |Mapaueromon 500mr wiax TP 10 50 5 10 10 20 30 10 10 10 | 100 | 30 20 305 500 152,500
18 | NeHnurnnud 1mp Tap/HyHTar dn 1 50 | 500 100 50 | 30 730 1.000 730,000
18 |CuHadpnan 0.025%-10rp | Toc/Typxnar $n 1 5 2 5 1 5 5 5 5 33 3,000 99,000
20 | Tpuxonon 500mr wax P 10 30 20 5 10 10 20 60 30 50 80 10 | 20 20 | 100 465 2,500 1,162,500
21 |®esam A400Mr+25mr wax Kp 60 10 5 30 10 2 20 10 10 8 5 5 5 10 10 3 5 5 20 173 11,000 1,903,000
22 |®ypanoHuH 50mr wax el 20 30 10 40 10 | 100 5 100 100 30 50 10 20 20 | 20 5 100 | 40 687 3,200 2,198,400
23 | Xopocon 0.7r+0 :;rr"* B4 pysrar nau 1 50 [ 500 | 20 | 50 | 100 | 100 | 50 | 500 | 100 100 50 50 | 100 1725 | 500 862,500
24 | LlanpeiH ncan 10%-10rp TOC/TYpXAar hn 1 5 10 5 2 2 3 5 82 2,500 205,000
25 | UetupuavuH 10mr wax TP 10 10 30 20 20 50 5 60 10 10 10 50 20 10 100 5 405 1,200 486,000
26 | LInHHapuanH 25mr wiax Kp 50 30 10 2 60 10 5 5 5 130 4,200 546,000
27 |3Han 5 mr wax yn 20 S 20 20 10 100 157 3,800 596,600
28 |3Han 10 mr wax yn 20 5 20 5 40 5 10 10 50 10 155 5,000 775,000
29 |3Han 20 mr wax yn 20 5 20 5 3 3 5 10 5 53 7,200 381,600
17,958,300
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1_|3yy Har yoaarwad/ 229 ui na- 1 10 [ 260 | 100 | 1000} 500 | 300 | 50 500 100 50 100 50 | 2960 200 552,000
2 [Tapuyp1r 0.45mm-130m wr na4 1 300|200 | 100] 100 300 |1000]| 50 200 | 100 | 500 200 | 3050 200 510,000
3 [Tapwyp 3r 0 6rm-32Mm w nad 1_[ 1000|2000 1000] 1500]2000] 2000] 2500 2000 4000 |6600{1500] 2000 | 5000 2500 1000 | 2000] 500 | 200 | 600 | 550 | 1000] 1000] 200 | 42050 | 220 9,251,000
4 |Tapuyp 5t 0. 7MM-32MM w nad 1| 1000|2000 1500] 2000 3000] 5450] 2500] 3000 6000 | 5000 2000 2000 | 8000 [ 4000 1500 | 2500] 800 | 800 | 900 1000} 1500] 500 | 57850 ] 250 14,487 500
5 |Tapayp 10T 0.6Mm-32Mm w nad 1 [ 1000|3000 1000 3000 3500 4000] 4000] 3000 5000 [ 6000 2500( 3000 | 4000 4000] 2000 | 4000] 2000] 2000 500 | 7000 1000]2000] 200 | 67700 ] 350 23,695,000
6 |Tapuyp 20T 0.Onm-32Mm w nad 1| 100 | 800 | 500 | 1560]1000] s00 | zoo0| 100 | 3000 za00 700 | 600 [1000] 1500 3000] 500 | 200 | 300 | 200 | 500 | 1000} 200 | 21200 ] 450 9,540,000
Ay 58,175,500
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1 [AMHHOKANPOHL) Xyumnn 5%-100mMn Tap/WWHIIH &n 1 15 | 80 { 40 40 40 | 50 40 ) 50 ( 40 | 50 | 10 | 30 | 50 40 | 40 | B8O | 50 | 20 | 20 905 3,560 3,167 500
2 [fexctpan 40 500 wn TApAWAHTIH ®n 1 Jafsli0l]l s 106l s8] 2]2{1010] 15 103 |20 1w0]|2] 5] ]10]>5] 0] 5101 5] 187 | 13000 2,431,000
3 [fAekcTpan 70 500 mn Tap/LMHIIH on 1 4 5 10 5 10 6 5 2 2 i0 | 10 15 10 3 5 10 1 20 5 10 5 10 5 5 172 12,000 2,064,000
a fﬂg: XonmMmor 200-250mn | Taphuownren | on 1 20 | 150 50 | oo 100 40 100 | 300 { 100 | 50 | 300 | 100 | 80 | 100 [ 100 ] 100 | 200 40 | 00| 2280 { 3100 7,068,000
5 ﬁl‘::: xanmMer 100 Mn Tap/LUMHraH on 1 |60} 20 [100| 10| . |180f200] 50 | 100 80 100 [ 200 | s0 | 100 | 10c] 80 | 100} © 100 100 | 1880 { 2500 4,700,000
5 |Nadop 200-250Mn | TaphuMHra &n 1 | 60 | 25 | 1000 100 | 200 ] 160 | 20 20§ 40 | 70 | 300 | 100 | 50 | 200 50 {100 {100 ] 60 [100] 30 | 10 | 1895 | 3.800 7,201,000
- o
7 |Mavrmron 19% (:iosoo; TapiumHran bn Tt fo e |15 | 2050 [ 10f 0] s0 10|10 5 |50 20 0 [100] 10 20| 10| 480 | 6600 3,168,000
8 |ManHuTon 10%-100mn TAP/LUMHI3H ¢$n 1 10 ] 40 { 30| 10 [ 40} 50 | 10 | 100 1501 20 | 20 | SO | 40 { 35 | 50 50 10 715 3.000 2,145000
9 |Harpun xnopwa 7.5%- fnoo.zso) Tapiunkran | @n s {sjofwolz] ]|s | 0 {0 5|0 s w0{1]s 4] s | o2 | 300 276,000
10 |HaTpuin xnop4a 0.9%-2mMn Tap/yycMan K 10 10 10 3 [g00f 10| 50 100 | 10 5 301 10 3] 5 | 100 200 | 1443 2,000 2,886,000
11 | Hosoxain 0.25%-2wn__ | Taplyyoan vp 10 10 | 50 | 20 | 30 [s00] 10 5001 40 | 150 806 | 20 | 10 30{ 5 [ 50 [ 50 [100 0 [ 2576 [ 2100 5,407,500

40,514,000
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1 |5-Hok S0mr Kop Kp 50 50 10 5 200 | 10 2z 20 5 20 4 5 20 20 374 4,000 1,496,000
0.08r+0.005r+0.
2 |Annoxon 04r+0.025¢ wax b 10 20| 10 40 10 | 20 10 50 10 170 1,400 238,000
3 [Auwxnoemp 400sr wax/kan T 20 16 | 10 20 10 20 30 5 105 4,000 420,000
4 |FeHramwumH BOmr2Mn am Xp 10 800 50 | 20 | 60 | 20 ] 70 ] 30 | 150 80 | 1001501100 | 5 20 | 280 ] 50 | 60 | 500 | 80 | 50 § 2275 2,000 4,560,000
5 jAnynHoH 250mn-2mn aM Xp 10 2 16 | 10 10 5 5 2 10 3 1 15 { 10 E] 10 50 3 151 13,000 1,963,000
§ |Kapcun 35mr Luax K BC 5 2 3 2 1 5 10 3 2 10 2 2 50 g7 12,000 4,164,000
7 |Ma3s euuinescxii ToC/Typxnar [+:Fi] 1 5 2 3 5 5 1 s 3 2 5 36 3,500 126,000
8 [Meaumdbopte b wax Kp 20 515110 20| 5 [ 30 [s0 20 [ 10 ] 20 W] 5] s 5 | 10| 20| 250 | 4800 1,248 000
9 |MeHremyyncaH 10¢ 40rp TOC/TYPXN3M pn 1 10 2 5 5 3 5 5 5 10 10 2 2 5 69 15,000 1,035,000
10 |HucTarmH 500 000 C¥H wax p 20 10 | 30 10 1 10 5 5 10 10 81 2,800 254,800
11 |NapaugTamon 1.25mr naa 7100 10 30 10 40 5 10 10 10 10 5 10 10 10 7 5 142 4,500 635,000
12 {Napauetamon 250mr naa 1106 10 30 | 10 5 i0 | 10 | 10 10 | 16 10 | 10 10 10 3 10 3 10 30 191 5,000 955,000
13 |NexvuunnvH 1rp/cas QYH/ | Tapiynrar bn 1 50 200 10 50 200{200]| 70 ] 426,000
‘14 |PanvTaavH 150Mr wax P 10 4 10 3 60 10 10 10 107 2,200 235,400
15 | CansfyTamon dur wax P 10 40 3 1001 10 40 10 10 101 20| 10 5 10 268 1,000 268,000
18 2::0"2;’:”"“ 100wkr200a03 | asposon uay | n 1 5| 3 5| 2 5 5| 2 3 l2]s 5| 2 63 | 10,000 630,000
17 | Jypurnnum 150mr Lax KD 30 5 1 5 5 2 50 98 1,500 147,000
15,795,200
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1_|ApeHaniy TapuineM 0.025%-1mn Tapfyycman [5e] 5 10 3 5 20 1 10 3 10 | 20 10 | 10 2 5 10 10 4 20 153 11,500 1,759,500
2 | AxToseritH 200 mr LIaxXman Kp 50 1 1 2 2 5 11 92,000 1.012,000
3 |AxToRervH 40mr/mn-2mMn | Taplyyoman Kp 5 10 1 4 5 1 3 0 | 30 5 16 10 89 36,000 3,204,000
4 |Aremonon 50 mr Liaxman $n 100 b1 2 2 2 2z 1 2 2 2 1 1 1 10 29 23,000 667,000
5 |Arponme Tmrimn-1mn Taplyycman Kp 10 10 5 1 2 1 5 3 5 2 1 2 1 5 2 8 2 1 5 1 1 61 12,000 732.000
6 |AcnupuH 50 mr WAXMEN D 10 30 Q 10 10 10 0 80 1,000 §C,000
7 |Banwpos BOmMr waxman el 5 50 | 20 10 ) 10 | 10 5 30 | 50 5 2 5 20 | 20 10 | 10 257 1,000 257,000
8 |funomwasng 25mMr LLaxMan Kp 20 0 2 10 30 8 5 1 5 5 ] 3 1 75 8,000 600,000
9 |OwvrokcuH 0.25mr LAXMAN «p 30 20 5 2 3 1 1 2 1 El 1 39 3 500 136,500
10 | Awrokews Z25Mr-1Mn Tap/yycman xp 10 | 20 | 10 | 30 2 2 1 5 1 2 2 1 1 5 8 2 2 1 95 4,500 427 500
11 | Koxopboxkcunasa 50 Mr-2 mn Tapfyycman Xp B 30 50 | 200] 120] 7C 50 | 200 | 50 30 60 | 200 | 100 | 100 | 15 50 | 100 30 | 100 | 200 | 20 20 5 100 | 1901 8,000 15,208,000
12 | KopauamuH 2.5%-Zmn Taplyycman Kp 10 5 10 | 50 2 2 10 4 1 2 2 S 4 5 2 10 5 2 5 2 128 18,000 2,304,000
13 |Kypaxtvn 25mr aXMan ¢n 120 4 2 5 1 3 10 | 4 5 2 6 1 3 1 1 1 1 50 16,000 800,000
14 {Metungona 250 mr Wiaxman Kp 100 1 1 2 2 1 1 1 4 hl 1 2 1 i 1 2 1 1 18 23,000 414,000
15 |Hurpornuuepus 2.6 mr Liaxman &on 25 2 2 3 2 4 5 1 2 8 1 10 1 2 4 3 1 4 1 4 2 3 52 12,000 624,000
16 |Hudennnmu 10 Mr Lilaxman K[ 100 1 10 1 2 il 1 1 1 2 1 1 1 9 4 1 2 1 1 1 1 17 30,000 510,000
17 flananrad 140Mr+158mr LaXMan on 50 5 20 1 2 10 10 50 20 S 40 10 6 2 3 3 187 11,000 2,057 000
Ly 30,792,500
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1 |Fiow Gell XYYPaiA xalpLar 1 1 1 4 1 2 1 1 1 1 18 38,000 608,000
2 | AnuGyMuH 100 xyH o3 LUWHraH $n mn | 1 1 1 1 1 1 il 1 1 1 1 1 1 15 23,000 345,000
3 |BuOMmMA yraary wwHran | xaipusr T T T i 1 1 2 1 1| 12 | 3soo0 456,000
yycmarn
4 |Femarnofux 500 xyH Ao3 LUMHIaH bn M 2 1 1 1 1 1 7 48,000 336,000
5 (Kanbum 100 xyH A03 WIWHISH xavpyar | mn 1 1 1 1 1 2 1 1 1 1 1 1 1 1 15 53,000 795 00
6 _{MoveauH 200 xyH no3 WHHI3H thn Mn 1 1 1 1 1 1 1 1 1 9 56,000 504,000
7 |Hwr BunupyGux 200 xyH 03 WWHI3H xawpyar | mn 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 18 46,000 640,000
8 [Hwir yypar 100 xyH A03 LUMHIIH thn Mmn 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 15 21,000 315,000
9 [Caxap 100 xyH Ao3 WMHraH bn M 1 1 1 1 1 1 1 1 8 20,000 160,000
103 | XsHanThiH yycman 0,5rp-6lu Xyypau xanpyar 1 1 1 2 1 1 2 2 1 1 1 1 1 & 1 1 1 25 28,000 700,000
11 |WyrTnar chocaraaa 100 xy+ noa WHHI3H xaipuar | mn 1 1 1 1 ] 1 1 2 2 1 1 1 1 2 1 1 1 20 56,000 1,120,000
Oyn 5,979,000
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IMHINTUAH XOr 20PUYRANT
1 FAvoynnyi xapuar XaArANbIr xafipuar HHF' ;aca“ 1 50 | 50 | 30 | 50 | 100 300|200 s0 | 100 10| 20 | s0 50 100 50 | 25 1325 | 1,500 1,987,500
yyrnyynax N
2 |karerp B‘;::::: 2 apuyn yyT 1 s0 | 30| 10 50|20 10]|s0|z20] 15 16| 5o 5 | 10 1| 231 | 1800 535,800
3 |karerp Betrwiin 1 w T 1 40| s 20 5 20 30 | 101 20 5 |10 10 1| 178 | 4000 704,000
2amTan
4 |mapne Snanmin yr | ™ 5 5 0|10 s 30 2 | a7 | 7000 2,499,000
5 |Mac 3acnibii 63anui ApuyTracan xanpuar | 20 5 1 5 1 5 2 20 | 40 10 5 5 1 1 1 5 5 2z 114 21,000 2,394,000
Mac 3acnbiH HeANar " o
6 yrac Ne Xainpar xadpuar | 12 1 1 3 1 1 2 1 1 1 4 5 1 1 23 38,000 874,000
Mac 3acneiH HARNAr - _ -
7 yrac Ne 1 Kapngarryi w xaapuar | 12 1 1 1 2 1 5 1 1 13 38,000 484 000
Mac sacneiH HWHN3T o -
8 yrac Mg 2 Xanngar w xaipuar | 12 1 2 1 2 1 2 1 1 1 4 5 1 22 38,000 835,000
g |Moc 3acnH Hudnar Xamnaarrya w xanpuar | 12 3|1 9 ] 2 1 s |1 1] 18 | 3so00 684,000
yrac Ne 2
3 |Mac 38T HiAnar Xaangar w xaipyar | 12 5 1] s 2 |1 1] 1] 1|1l z21s8]2 1| 27 | 38000 1,026,000
yrac Ne 3
4q (MaC 28I HMARST Xannnarryil w xaipuar | 12 20 1 1 1 11 1 5| 4 1| 3 | 3so0m 1,358,000
yrac Ne 3
Mac 3aciblH HAANS, N
T 1 1 41
12 yrac Na 4 Xawnpar w xalpuar 2 1 1 1 1 1 2 2 1 11 38,000 8,000
Mac 3acnelH HUANST . " "
13 yrac Ne 4 Xadnparryi w xalipyar | 12 1 1i 1 2 1 1 7 38,000 266,000
Mac¢ 3achbiH TOPFOH IrypEAnKeH .
14 yrac Nel, Ne3 s w xadpuar | 12 1 1 1 2 2 1 1 2 1 14 36,000 532,000
15 [Mac sacnbm xyra 3anac w xadpyar | 50 2 2 2 1 1 1 1 2 1 2 2 1 1 21 22,000 462,000
16 :L”Yraw"' LHHTIH BEEX | 1 rmyynarmaid w na4 3 2 10| 5 5 1 2 25 | 4200 105,000
17 |Hspaiin yomor Komnnere w na4 1 15 25 | 20 | 30 ] 20 5 30 | 10 20 5 20 5 50 4 258 8,500 2,201,500
18 |Canva copyynaruy IHMAH w ¥yT 1 20 3 25 10 40 30 20 20 5 2 5 5 10 1 196 3,800 744 800
19 | ¥YaH ayy 16 G w nad 1 20 20 5 60 | 10 20 20 3 50 10 218 1,400 305,200
20 |YaH ayy 18 G XOG nau 1 40 30 20 20 40 10 20 50 50 20 3 20 50 10 383 1,400 536,200
21 [¥AH ayy 206 X0C nax 1 50 20 | 50 80 | 40 40 | 25 30 50 | 20 |100] 20 | 25 1 20 | 30 50 | 30 [ 10 590 1,400 966,000
22 | YnH 3yy 226G ww nau 1 g0 | 20 20 [150] B0 | 40 | 100] 40 | 25 100 | 10 [100[ 100 | 100f S5C ¢ 25 1100 50 [100 ) 30 | 80 1340 1,400 1,876,000
23 |YaH ayy 24G nas 1 100 ) 100 | 20 30 | 1501100 | 50 | 200 | 80 S0 100 | 100 100 | 100 { 100 | 50 ) 150 | 150 | 100 [ 200 | 100 | 50 2180 1,400 3,052,000
24 | BUHAN xaryyH Inexrpon w xadpuar | 1 10 5| 2]w|s 5 2| 8 a7 | 7200 338,400
NANDKU
25 | Xoonnox aoHg TOM xyH Ne 12 w ¥yT 1 10 2 2 5 2 1 3 1 2 1 29 1,500 43,500
26 | Xoonnox aorg ToM XyH e 14 w yyT 1 5 3 2 5 2 1 3 1 2 1 25 1,500 37,500
27 | Xoonnox 30Ha, TOM XyH Ne 16 w ¥yT 1 5 3 z 5 2 1 1 3 1 2 1 35 1,50C 52,500
28 | XoDnnox 20HA TOM XyH Ne 18 w yyT 1 10 3 2 5 2 1 3 1 2 1 30 1,500 45,000
29 | Xoonnox 3oHp, Kyyxa4 Ne 6 w wyT 1 0 2 3 2 5 2 1 5 10 3 1 2 1 47 1,500 70,500
30 | Xoonnex 3oHg XyyXxaa Ne B w yyT 1 10 3 2 5 2 1 5 10 3 1 2 1 45 1,500 67,500




31 | Xoonnox 30HA Xyyxan Ne 10 w yyT 1 10 3 2 ] 2 1 10 3 1 2 1 40 1,500 60,000
32 :;;‘;"cmape’“““” HApa w YT 1 a0 | 10 20 10 2| 2 20 s [10]w0|10]10]s0]| 207 | 1.800 372,600
33 fy;‘;“c“fa"a““”“ xyyxan w VT 1 100 | 10 50 20| 2| 50 20 15 | 10 1020|501 37 | 180 642,600
KAyHunToperdniin
34 | e Havans mypors | 11208HG Y204 w YT 1 100} 20 a0 so [ 2 | 50 50 5 10 56 | 37 | 2000 734,000
35 | XysmnTapaniniin 2 2 sawmai ryype w yyr 1 10| 5 3 we|so | 20| 20 10 3 5 w0 |se| ars | 1.800 676,800
3AMTaM [yypc hxyyxaal
XyumnTeperduian 2 2 3amMTan ryypc
36 | oo ryype pri w ¥yT 1 50| 5 3 20 | 20| 20 10 3 5 20 | 50| 206 | 1800 370,800
a7 |XyonnTaperimin 2 | 2 sammad ryype w wro |1 60 | 20 3 50 fs0|z20] a0 10 2 s0 | 205 | 2200 649,000
3AMTEN ryype Jrom #
38 | XyuunTeperumiii Mack HApai L ¥yT 1 70 5 10 | 10 3 10 | 10 50 168 1,800 302,400
39 | XyuunTepseriiii Mack Tom xyH w yyT 1 30 5 3 10 50 S8 1,800 176,400
40 | Xysunteperduii mMack Xyyxag w ¥yT 1 100 10 3 10 50 173 1,800 31%,400
41 | Ly conbax cucten 2263‘3‘:::3"3"‘ nav T 1 20| s | 10 5| s 20 5 | 10 15{ a0 5 15| 5| 133 | 180 239,400
42 llWapxHe: neHT 2*100cm 1] xadpyar 1 40 | 50 | 50 | 10 20 [ 50 10 100 | 30 50 20 § 20 100 2 552 1,000 552,000
43 [\izacqni vyt 500 Mn na yyT 1 20 [ 50 § 40 | 10 | 20 20| 5 | 40 | 50 | 15 [ 0 ] 20 | 50 | 20 5 | 10020 10] 5 | 1| 421 | 2000 842,000
31,511,300
Baru-8 Har ynaarmiiH 3MHINMMAK X3parcan
Ld X
z 3 2 3 = @ 8] s e | e a & B
] 3 w »® I ' F3 = fud z [ 2 o e |a & & i
g ES |ES| 2{E| 5|6 2lsls|Eie| 8 s|® |35 2lesl 85| E|5nm] "
a/n|Xynannaane: wapwnn|  3opuynanr e e sl o] & E £ E 2|13 88| ¢2 s | 22| & § ilB § g2 e |E|& '§ oo | EYPHH HWAT yH3
2 | 8¢9 |22/ 5 [2 |52 sl 2|88 |F |8 |=|E(2|3 3683 |% |82 yus
i1 87| g & E El(e|® ES 3|5 T |35 = E
1 |3marrsiyyamintone | M pasmep w wr 1| 200 300 { 150 | 500 | s00 | sc0 500 | 400 1300 | 100 | 100 600 [ 150 | 200 | 500 | 600 | 500 | 100 7200 | a0 5,760,000
raprrTET
2 |Aycnem cucrem yyeman Suen w T 1 | 400 | 106 | 1000|2000 2000 | 2000 | 2500 | 2000 | 1500|3006 | 1000 1500 | 500 | 1800| 500 |2500| 800 | 500 | 400 | 2000) 500 | s00 | 500 | 20500 | ss0 16,225,000

21,985,000




BAIU-9 OHOLWNOrOOHL! 50TOH NAEOPATOPUIAH X3P3rcan

1] I
z z 2 8 = e H 5 [ [ <3 | = =3 a d
- Aal & ] a c 3 c £ - 5 = = = = > 5 (2.l 2 ] E Har
2 gl |zl z| s S| 5| % Fiz|ls5|>|=|2]|=]|%5g|8 Ti§51 2| & . »
aln OHounyypoi Tyn XanGap E ‘e 5 § & & 2 3 E E B ] 5 E £ g 2 z & & & K % ﬁ E H] 3 Huér GypHAN Husr yHa
XYOAN0aaHb! HIPWKN 5 a 5 2 5 &_ g 3 - E ; a ; % g g ':' B I3 w s g ?;0 § S.i ® g TCO M3
& ] It = a il o H = L] = = |= a g
il Q 2 & E S| e > x| = 3 Il g
1 |RPR None xanpuar xampuar | 100 1 1 2 1 i 1 1 3 1 1 2 1 1 1 1 1 26 55,000 1,430,000
2 |TPHA None xampuar xaiipyar | 200 1 1 1 1 1 1 2 1 1 1 1 1 1 1 20 170,000 3,400,000
ApuaacHs! caex ! " -

3 GomBanar! None xaupuar xadpuyar | 100 2 1 5 20 10 a 1 2 2 5 0 0 6 5 3 1 74 30,000 2,220,000
& |Fpammem Gynar 500mn 4 xaipuar | xawpuar | 3 | 1 | 1 1 1 T I szl ol a o] a o] 1] 22 |ss00 1,870,000
P YA LuMpXarTai PY pual 1 A B0,

7 jKenn Bynar Smn None ¢n xaipuar 1 2 1 1 1 1 1 1 2 2 1 1 1 1 3 1 1 1 1 1 1 1 26 12,500 325,000
9 |BHger yoonord naHuet None xadpuar xawpuar | 100 2 3 20 5 10 5 5 0 1 3 5 5] 1 66 5.000 330,000
10 |Pesye paxrop 10mn None n xahpuar 1 2 3 1 4 1 2 1 2 3 3 1 1 1 3 1 2 1 1 3 2 2 2 1 43 47,000 731,000

CaxapbtH " o
11 TecT/Clucolabl None xapuar xadpyar | 50 10 10 | 10 1 2 2 5 1 80 1 3 5 L) 1 139 33,000 4,587,000
12 |HUTRETTEA yyT 1400 4 None w xampuar [ 1 | s [ s [ 10| 3 [w0]w0] s |1w0|s5]we]s 10 | 10 5 15| 5 110]1w]as|s]s]| 157 | 15000 2,355,000
[a3H xyyaua/
13 |LUoavknod 10mn None ¢$n xaipuar 2 2 3 4 1 2 1 2 3 2 2 1 1 1 2 4 1 3 2 2 3 i 4 13,500 553,500
14 | Liauxap xouyy None xaupyar xavpuar | 500 0 2 1 6 1 1 1 2 1 4 1 o 2 2 1 1 22 20,000 440,000
15 |Wap xowyy Nane xanpyar xanpyar | 1000 1 1 3 5 1 1 1 1 1 1 1 o] 2 1 1 1 20 25,000 500,000
LLi33cHWi TecT
16 |furinalysis reagent None xaupuar xaiipuar | 100 10 5 2 5 5 5 10 | 100 10 10 3 5 10 10 1 191 27.500 5,252,500
strips 11H/
23,994,000
Baru-10 XyyxauAH ONIOH HAWpNaraTt 6M4YMn TI3X33n
n z
z z 2 3 & w 51 & c clal.ole o o | B
dao {Sml 8 5 il E | = 3 213 3 g > > =18 |z o | E H
" E & al g | B = I El & 5 z = c | X « | > |1 *= | g |2 & & T = o ar
wa 3muitn xyaanaaans Ty XonGop §¢ E (g 2|7]¢ E E S| %] E E aleg | ¢ | E|z|z|¢g|2 % s 81§18 HUAT | i Huier v
Hapun 5o (3305 (3|5 2|C 5|22 5 || g F B R E|E|G\ES|E|R|E g| ™| w
o 3 < W] > -1z |rF| 8| - k3 3| g
it Q 2 & x 2 2| & > 3= 3 I g
XyyxauiaH Huaun - -
1 . OnOH Hawpnarar waxman xampuar | 30 | 100 | 500 | 300 | 370 | 135 100 | 50 | 100 [1500] 100 | 500 | 200 20 | 100 | 404 | 100 | 500 | 300 | 50 | 400 | 1650 | 20 5909 4,000 23,996,000
TAMIATAAY XOrMMOr
23,996,000
Bari-11 XXupamcad GONOH XeXyyNn IMITTaRYYyAS[ 30PUYNCaH OfIoH Hakpnaray Guyun T3xaan
L] x
T z 2 3 g - 5| & e s|lal.lw a o | &
3o |[Z=o| 3|5 8]E Il |E]8]|E| & s 21 & 5|2 o |l e H
7 a EQ [ > G 13 > ] 3 E & = - » > > c |sg = 9 I S o r
/| 2Min XyAANAAAHL Ty XonGap E ¢ 1§% § sig|le|E|&|%|8]c¢ |59 |S|z1E|s|z|8(z2 3 |EIE]|% HuiT | N HuiT yua
Hopun 55 (52|58 |G a|° 5|z (2|5 (83| 7|2 (R (L |8 |2 E6|E|=|E|a|™]|wmw
0 5
8 5 5 W |.=n' % o E s 2 '2 = __'} 5 = |+ 3 5, g_
oM rOGTTOTT
XOXYY IMArTIAYYYA L
1 30pWMYNCAH ONOH | ONoH Haipnarar | waxman xampyar | 100 20 | 30 | 8O gol 15| 50| 30 |t20]100] 10| 10 [100] 30 |100| 200|150 | 60 | 50 | 30 | 20 | 1285 | 22,000 28,270,000

HaRpnarar Gu4mMn

28,270,000




Bary-12 XXupaMcnanTtasc c3pruinax am, Xaparcnyya

2] x
- » 0 [ .
z z T < | © e S | 8 & c cElae|cia a e | B
3o im| a = Elc I = 3 £ |3 = s > 1l Z| & |zal & | E H
@ o n|l = H > ] > H] % H = 5 x > = o H] 5 > _ ar
avp | 2Mmn xymanaaamL _— XonGap 5.5 §§ gl 5|z 8|68 |% g5 g 3% § z | 2|51 % §=§ STETE ]9 1™ Gypwan Hudr yHo
HopuNn 52 [58|s (3B 2|12 2|32 & |¢ |7 a|=|E 8 |3|88|8 |2{E 8™ | w
(33
87 (87| 5 @ % 13|18 = 3|13|7F1F |3 3| g
150MKr+30MKr+7
1 |PemuHun ke waxman yn 28 30 50 | 10 (200} 30 | 30 | 200 | 4 00| 30 (100|100 (150 | 200 | 100 80 | 150 | 50 | 360 2029 3,500 7,101,500
2 |Tpwnodgem 150 smrfmn -1 mn Tapwnra $n 1 70 50 80 | 100 | 50 50 | 300 30 50 &0 100 2 40 | 140 | 50 80 | 200 | 50 | 150 S5C 1732 5,200 9,006,400
3 |Bak-an 1.5 Mr waxman yin 1 10 [1] 5 5 10| 30 | 20 5 a5 3,500 297,500
2 w caBaa
4 |NeeonnaHT 75 mr Oyxeaid «p 1 10 1 15| 40 5 10 15| 10 40 1 20 10 5 5 10 5 5 207 42 500 8,797,500
cyynray
1 XQTNEM4UHH
5 |T-epexper XAMT YYTaHR epeuner nay 1 20 S0 5 15| 50 | 50 100 50] 20 50 2001 50| 80| 20| 50 | SO 860 4,200 3,612,000
caBnaracan
1 XSTNer4MidH
6 |Oxwng eperper XaMT yyTaHa, epeHasr nax 1 20 5| 20 3 5 5 50 o] 4] 01 10 | 10 138 8,800 1,214,400
caanaracad
Merr - 1 x@TnerduinH
7 o or XamT yyTana epeHaer na4 1 20 5 10f SO 1G S5 10 5 20 5 50 20 5 20 10 10 10 265 22,000 5,830,000
pend CABNArACAH
35,859,300
HUWT 4YH 334,830,100
3AXUANTA HBITIr3C3H:

3M, SMHINMNMAH X3PIrCAUKH YAHAP AKOYNTY BAVOAN XAPUYLICAH MSPF3}KMHT3HWL% L. XAJOBAATAP

i




